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Question 16: 

Though public sector is very essential for industries, many public sector undertakings 
incur huge losses and are a drain on the economy’s resources. Discuss the usefulness 
of public sector undertakings in the light of this fact. 
ANSWER: 

Although, the mismanagement and wrong planning in PSUs may lead to misallocation 
and, consequently, to wastage of the scarce resources and finance but PSUs do have 
some positive and useful advantages. 

1. Enhancing Nation’s Welfare: The main motive of the PSU was to provide goods and 
services that add to the welfare of the country as a whole. For example, schools, 
hospitals, electricity, etc. These services not only enhance welfare of country’s 
population but also enhance the future prospects of economic growth and development. 

2. Long Gestation Projects: It was not feasible and economically viable for the private 
sectors to invest in the big and wide projects like basic industries and electricity, railways, 
roads, etc. This is because these projects need a very huge initial investment and have 
long gestation period. Hence, PSU is the most appropriate to invest in these projects. 

3. Basic Framework: An important ideology that was inherited in the initial five year 
plans was that the public sector should lay down the basic framework for industrialisation 
that would encourage the private sector at the latter stage of industrialisation. 

4. Socialist Track: In the initial years after independence, Indian planners and thinkers 
were more inclined towards socialist pattern. It was justified on the rational ground that 
if the government controls the productive resources and production, then it won’t mislead 
the country’s economic growth. This was the basic rationale to set up PSUs. These PSUs 
produce goods not according to the price signals but according to the social needs and 
economic welfare growth of the country. 

5. Reduce Inequality of Income and Generate Employment Opportunities: It was 
assumed that in order to reduce inequalities of income, eradicate poverty and to raise 
the standard of living, government sector should invest in the economy via PSUs. 



Question 17: 

Explain how import substitution can protect domestic industry. 

ANSWER: 

In the initial seven five year plans, India opted for import substitution strategy, which 
implies discouraging the imports of those goods that could be produced domestically. 
Import Substitution Strategy not only reduces an economy’s dependence on the foreign 
goods but also provides impetus to the domestic firms. Government provides various 
financial encouragements, incentives, licenses to the domestic producers to produce 
domestically the import substituted goods. This would not only allow the domestic 
producers to sustain but also enables them to grow as they enjoy the protective 
environment. They need not to fear from any competition and also not to worry about 
their market share as license gives them the monopoly status in the domestic market. 
Being monopolist, they earn more profits and invest continuously in R&D and always 
look for new and innovative techniques. This gradually improves their competitiveness 
and when they are exposed to the international market they can survive and compete 
with their foreign counterparts. 

Question 18: 

Why and how was private sector regulated under the IPR 1956? 
ANSWER: 

IPR 1956 was adopted in order to accomplish the aim of state controlling the 
commanding heights of economy. This policy was aligned with the Indian economy’s 
inclination towards socialist pattern of system of Soviet Union. According to this 
resolution, industries were classified into following three categories: 

Category 1: Those industries that are established and owned exclusively by the public 
sector. 

Category 2: Those industries in which public sector will perform the primary role while 
the private sector will play the secondary role. That is, the private sector supplements 
the public sector in these industries. 

Category 3: Those industries that are not included in Category 1 and Category 2 are left 
to the private sector. 

These industries that were left to the private sector, the government owns an indirect 
control by the way of license. In order to initiate a new industry, private entrepreneurs 
should obtain license (or permit) from the government. By licensing system, tax holidays 
and subsidies government can promote industries in a backward region that will ,in turn, 



promote the welfare and development of that region. This was supposed to reduce 
regional disparities. 

Further, in order to expand the scale of production, private sector needs to obtain license 
from government. This was supposed to keep a check on the production of goods that 
are socially undesirable and unwanted. Hence, the state fully controlled the private 
sector either directly or indirectly. 

Question 19: 

Match the following: 

1. Prime Minister A. Seeds that give large proportion of 

output 

2. Gross Domestic 

Product 

B. Quantity of goods that can be imported 

3. Quota C. Chairperson of the planning 

commission 

4. Land Reforms D. The money value of all the final goods 

and services produced within the 

economy in one year 

5. HYV Seeds E. Improvements in the field of 

agriculture to increase its productivity 

6. Subsidy F. The monetary assistance given by 

government for production activities. 

 
  
ANSWER: 

1. Prime Minister C. Chairperson of the planning commission 

2. Gross 

Domestic 

Product 

D. The money value of all the final goods and 

services produced within the economy in 

one year 

3. Quota B. Quantity of goods that can be imported 

4. Land Reforms E. Improvements in the field of agriculture to 

increase its productivity 

5. HYV Seeds A. Seeds that give large proportion of output 

6. Subsidy F. The monetary assistance given by 

government for production activities. 

 प्रश्न 16:   हालाांकि सार्वजननि के्षत्र उद्योगों िे ललए बहुत आर्श्यि है, िई सार्वजननि के्षत्र िे उपक्रमों 
िो भारी निुसान होता है और अर्वव्यर्स्र्ा िे सांसाधनों पर एि नाली होती है।  इस तथ्य िे आलोि में 
सार्वजननि के्षत्र िे उपक्रमों िी उपयोगगता िी वर्र्ेचना िीजजए। 



 उत्तर: 

         हालाांकि, सार्वजननि के्षत्र िे उपक्रमों में िुप्रबांधन और गलत योजना िे िारण गलत आर्ांटन हो 
सिता है और पररणामस्र्रूप, दलुवभ सांसाधनों और वर्त्त िी बबावदी हो सिती है, लेकिन सार्वजननि 

उपक्रमों िे िुछ सिारात्मि और उपयोगी फायदे हैं। 

 

 1. राष्ट्र िे िल्याण में र्दृ्गध: पीएसयू िा मुख्य उद्देश्य ऐसी र्स्तुएां और सेर्ाएां प्रदान िरना र्ा जो 
समग्र रूप स ेदेश िे िल्याण में शालमल हों।  उदाहरण िे ललए, स्िूल, अस्पताल, बबजली आदद। य ेसेर्ाएां 
न िेर्ल देश िी आबादी िे िल्याण िो बढाती हैं बजल्ि आगर्वि वर्िास और वर्िास िी भवर्ष्ट्य िी 
सांभार्नाओां िो भी बढाती हैं। 

 

 2. लांबी अर्गध िी पररयोजनाएां: ननजी के्षत्रों िे ललए बनुनयादी उद्योगों और बबजली, रेलर्े, सड़िों आदद 

जैसी बड़ी और व्यापि पररयोजनाओां में ननर्शे िरना सांभर् नहीां र्ा और आगर्वि रूप स ेव्यर्हायव नहीां 
र्ा। ऐसा इसललए है क्योंकि इन पररयोजनाओां में बहुत बड़े प्रारांलभि ननर्ेश िी आर्श्यिता होती है और 
इन पररयोजनाओां िे ललए बहुत अगधि प्रारांलभि ननर्ेश िी आर्श्यिता होती है।  गभावर्स्र्ा िी लांबी 
अर्गध।  इसललए, पीएसयू इन पररयोजनाओां में ननर्ेश िरने िे ललए सबस ेउपयुक्त है। 

 

 3. मूल ढाांचा: शुरुआती पांचर्र्षीय योजनाओां में वर्रासत में लमली एि महत्र्पूणव वर्चारधारा यह र्ी कि 

सार्वजननि के्षत्र िो औद्योगीिरण िे ललए बुननयादी ढाांचा तैयार िरना चादहए जो औद्योगीिरण िे बाद 

िे चरण में ननजी के्षत्र िो प्रोत्सादहत िरेगा। 

 

 4. समाजर्ादी रैि: स्र्तांत्रता िे बाद िे शुरुआती र्र्षों में, भारतीय योजनािारों और वर्चारिों िा झुिार् 

समाजर्ादी पैटनव िी ओर अगधि र्ा।  यह तिव सांगत आधार पर उगचत र्ा कि यदद सरिार उत्पादि 

सांसाधनों और उत्पादन िो ननयांबत्रत िरती है, तो र्ह देश िे आगर्वि वर्िास िो गुमराह नहीां िरेगी।  
सार्वजननि के्षत्र िे उपक्रमों िी स्र्ापना िा यह मूल िारण र्ा।  य ेसार्वजननि उपक्रम मूल्य सांिेतों िे 

अनुसार नहीां बजल्ि देश िी सामाजजि जरूरतों और आगर्वि िल्याण वर्िास िे अनुसार माल िा 
उत्पादन िरते हैं। 



 

 5. आय िी असमानता िो िम िरना और रोजगार िे अर्सर पैदा िरना: यह माना गया कि आय िी 
असमानताओां िो िम िरने, गरीबी उन्मूलन और जीर्न स्तर िो ऊपर उठाने िे ललए, सरिारी के्षत्र िो 
पीएसय ूिे माध्यम से अर्वव्यर्स्र्ा में ननर्ेश िरना चादहए। 

 

 प्रश्न 17: 

 बताएां कि आयात प्रनतस्र्ापन घरेल ूउद्योग िी रक्षा िैसे िर सिता है। 

 उत्तर: 

              प्रारांलभि सात पांचर्र्षीय योजनाओां में, भारत ने आयात प्रनतस्र्ापन रणनीनत िा वर्िल्प चुना, 
जजसिा अर्व है उन र्स्तुओां िे आयात िो हतोत्सादहत िरना जो घरेलू स्तर पर उत्पाददत िी जा सिती 
हैं।  आयात प्रनतस्र्ापन रणनीनत न िेर्ल वर्देशी र्स्तुओां पर अर्वव्यर्स्र्ा िी ननभवरता िो िम िरती 
है बजल्ि घरेलू फमों िो भी प्रोत्साहन प्रदान िरती है।  सरिार घरेलू उत्पादिों िो घरेलू रूप स ेआयात 

प्रनतस्र्ावपत माल िा उत्पादन िरने िे ललए वर्लभन्न वर्त्तीय प्रोत्साहन, प्रोत्साहन, लाइसेंस प्रदान िरती 
है।  यह न िेर्ल घरेल ूउत्पादिों िो बनाए रखने िी अनमुनत देगा बजल्ि उन्हें वर्िलसत होन ेमें भी सक्षम 

िरेगा क्योंकि र् ेसुरक्षात्मि र्ातार्रण िा आनांद लेत ेहैं।  उन्हें किसी प्रनतस्पधाव स ेडरने िी जरूरत नहीां 
है और न ही अपने बाजार दहस्स ेिी गचांता िरने िी जरूरत है क्योंकि लाइसेंस उन्हें घरेलू बाजार में 
एिागधिार िा दजाव देता है।  एिागधिारर्ादी होने िे िारण, र् ेअगधि लाभ िमाते हैं और अनसुांधान 

एर्ां वर्िास में लगातार ननर्शे िरते हैं और हमेशा नई और नर्ीन तिनीिों िी तलाश िरते हैं।  यह धीरे-
धीरे उनिी प्रनतस्पधावत्मिता में सुधार िरता है और जब र्े अांतरराष्ट्रीय बाजार िे सांपिव  में आते हैं तो र् े

जीवर्त रह सिते हैं और अपने वर्देशी समिक्षों िे सार् प्रनतस्पधाव िर सिते हैं। 

 

 प्रश्न 18: 

 ननजी के्षत्र िो आईपीआर 1956 िे तहत क्यों और िैसे वर्ननयलमत किया गया र्ा? 

 उत्तर: 



           आईपीआर 1956 िो अर्वव्यर्स्र्ा िी िमाांडड ांग ऊां चाइयों िो ननयांबत्रत िरन ेर्ाल े राज्य िे 

उद्देश्य िो पूरा िरने िे ललए अपनाया गया र्ा।  यह नीनत सोवर्यत सांघ िी प्रणाली िे समाजर्ादी पैटनव 
िे प्रनत भारतीय अर्वव्यर्स्र्ा िे झिुार् िे अनुरूप र्ी।  इस सांिल्प िे अनुसार, उद्योगों िो 
ननम्नललखखत तीन शे्रखणयों में र्गीिृत किया गया र्ा: 

 

 शे्रणी 1: र् ेउद्योग जो वर्शरे्ष रूप से सार्वजननि के्षत्र द्र्ारा स्र्ावपत और स्र्ालमत्र् में हैं। 

 शे्रणी 2: र्े उद्योग जजनमें सार्वजननि के्षत्र प्रार्लमि भलूमिा ननभाएगा जबकि ननजी के्षत्र द्वर्तीयि 

भूलमिा ननभाएगा।  यानी ननजी के्षत्र इन उद्योगों में सार्वजननि के्षत्र िा पूरि है। 

 शे्रणी 3: जो उद्योग शे्रणी 1 और शे्रणी 2 में शालमल नहीां हैं, उन्हें ननजी के्षत्र पर छोड़ ददया गया है। 

           इन उद्योगों िो जो ननजी के्षत्र पर छोड़ ददया गया र्ा, सरिार िे पास लाइसेंस िे माध्यम से एि 

अप्रत्यक्ष ननयांत्रण है।  एि नया उद्योग शरुू िरने िे ललए, ननजी उद्यलमयों िो सरिार स ेलाइसेंस (या 
परलमट) प्राप्त िरना चादहए।  लाइसेंस प्रणाली द्र्ारा, िर अर्िाश और सजससडी सरिार वपछड़ ेके्षत्र में 
उद्योगों िो बढार्ा दे सिती है, जो बदले में, उस के्षत्र िे िल्याण और वर्िास िो बढार्ा देगी।  यह के्षत्रीय 

असमानताओां िो िम िरने र्ाला र्ा। 

               इसिे अलार्ा, उत्पादन िे पैमान ेिा वर्स्तार िरन ेिे ललए, ननजी के्षत्र िो सरिार स ेलाइसेंस 

प्राप्त िरने िी आर्श्यिता है।  यह उन र्स्तुओां िे उत्पादन पर ननयांत्रण रखन ेर्ाला र्ा जो सामाजजि 

रूप स ेअर्ाांछनीय और अर्ाांनछत हैं।  इसललए, राज्य ने प्रत्यक्ष या अप्रत्यक्ष रूप स ेननजी के्षत्र िो पूरी 
तरह से ननयांबत्रत किया। 
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